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QUANTITY BASED INEQUALITY
BASED ON
SIMPLE & COMPOUND INTEREST

PERCENTAGE
~ PROFIT&LOSS




~ The price of item X is marked at Rs. 10,000. After giving a discount of 4%, a gain of

- 20% is achieved.
TET X AT 3ifeha T ®UT 10000 T, 4% T D€ 37 318 20% ngrﬁmﬁwmw.

Quantity I: Cost Price of Item X./X &l 'shq Hc.
Quantity II: Selling Price of item Y after two successive discount of 10% and 15% is
provided on the Marked Price of Rs 10,000
SEI Y T Torsha 1, 10,000 T9F <6t &ﬁrcrn—crw 10% 3R 15% <R
Wﬁw%mWYﬁWqu 7T fRaT SmaT ®
Quantity I > Quantity 11
(2) Quantity I = Quantity II
(3) Quantity I < Quantity II
(4) Quantity I < Quantity II
(5) Quantity I = Quantity II OR
Relation cannot be established.




f{'Afshopkeeper gets a discount of 20% on an article and sells it at 10% profit.
 Teh ehTHER od W 20% chl PE BT hidl & R IHT TX 6l 10% wwu'{aam%

Quantity I: Labeled price as a percent of cost price w Quantity I > Quantity 11

ToRd Hed sha Tod T Tehd=T Tiavrd § (2) Quantity I = Quantity IT
Proﬁt/loss ercent if discount given is 60% (3) Quantity I < Quantity II
9%'917’ I 60% Eﬁwﬁﬂéﬁ (4) Quantity I < Quantity II
(5) Quantity I = Quantity I OR
Relation cannot be established.




' Quantity I: Cost price, if a man reduces the selling price by Rs 12 and by this the proﬁt
| of 5% converts to a loss of 2.5%
ST W, AfS i st forsha 7o i 12 TU hW e 3T & ST 3R g
59, ST TN 2.5% T BT & GRETIA 81 JTaT 8
Quantity II: Cost Price, if a man increases the selling price by Rs 42 and by this the loss

. 0f 20% converts to a profit of 10%
_— 3 Fi'lTl?rtl_q uﬁaﬁéwﬁﬁﬁwn—aﬁ 12 TUY 31efieR Y AT T 371X 3k g

20% T B 10% F A9 ﬁwﬁaﬁag‘rw%w Quantity I > Quantity II
(2) Quantity I = Quantity II
(3) Quantity I < Quantity II
(4) Quantity I < Quantity II
(5) Quantity I = Quantity II OR

Relation cannot be established.




'If the cost price of an article is increased by 40% to make it as the market price of arttcl*e»;j

3ifeh Tt [T T o TT0 sha e 1 40% <At gfeg i &1 118

Quantity I: Selling price of article after allowing a discount of 20%, if the cost price
is Rs 1,75,000
20% Y T I % 918 g i sk Ao afe w7 95 1,75,000 T 2
Quantity II: The cost price of article if after selling the article at Rs 2,52,000 at 20%
profit.
S Ted, AT TE Y 2,52,000 FU H A2 20% T AT FIT &L
(1) Quantity I > Quantity IT
(2) Quantity I 2 Quantity II
Quantity I < Quantity II
4) Quantity I < Quantity II
(5) Quantity I = Quantity I1 OR
Relation cannot be established




Quantity I:  If the price of an article increases by 20% then by how much % a family
‘ decrease its consumption to make expenditure same? f
; Tnfdlh oLrglsnkelks20izfr'krdh cksUdbk;srksd ifjokj viuh [Kir es:
fdruszfr'’krdhdehdjsdh [kpkéfjofrZrjgsA
Quantity II: If the price of an article decrease by 14 (2/7) then by how much % a family
increase its consumption to make expenditure same?

= SW ; fnfdlh oquIsnkeksm% izfr'’krdhdehgksk;srksd ifjokj viuh [Kir es:

fdrugzfrkrdho)f djsdh [kpkaTjofrZrjgsA (1) Quantity I > Quantity II
(2) Quantity I = Quantity II
(3) Quantity I < Quantity II
(4) Quantity I < Quantity II
Quantity I = Quantity II OR
Relation cannot be established.




Quantlty I: Selling price, if cost price is Rs 24,000 and profit is 20% _

fod ewlY, fn @;ewY24000- gSk&rkHﬁklzfr kr20izfr' krgSA |
Quantity II: Selling price, if cost price is Rs 24,000 and shopkeeper gained 16 2/3%
after giving discount of 25%

- fod ewly fn @;ewY24000 - gokpqdkuizfr'krdh Nwivsas
L GW ckni6? izfrkrdkykHHekHGSA 6 Quaniey 1> Quantity 1

(2) Quantity I 2 Quantity I1

(3) Quantity I < Quantity II

(4) Quantity I < Quantity II

(5) Quantity I = Quantity II OR
Relation cannot be established.
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" Quantity I: On selling an aticle at Rs. 420, a man losses 20%. At what price he may sell it in order
to gain 50%7?
feret oTEq T Rs 420 TR < W 20 % hT BT BT 2, AT 50% hT ATH HTHT o fo1g
foe BT ST SR 2

Quantity II: A shopkeeper buys some goods for Rs. 500. If the overhead expenses be 12% of the
cost price, at what price should it be sold to earn 10%?

T AR 500 TTT A THS AT TGAT 31 FAR ATees T AN 7ol & 12% 7, T

T for BT W 10% W%WWWW «; Quantity I > Quantity II

(2) Quantity I = Quantity I1

(3) Quantity I < Quantity II

(4) Quantity I < Quantity II

(5) Quantity I = Quantity II OR
Relation cannot be established.




e Q’*uantlty I: Find the single discount equivalent to 20% , 25% and 10%.
20%, 25% IR 10% aaawmwma‘ﬁﬁm

Quanity II: Find the single discount equivalent to 28.56% , 37.5% and 9.09%.
28.56%, 37.5% 3T 9.09% %wwfgemaﬁﬁm

(1) Quantity I > Quantity II

(2) Quantity I 2 Quantity II
Quantity I < Quantity II

(4) Quantity I < Quantity II

(5) Quantity I = Quantity II OR
Relation cannot be established.




‘?":}

. Quantlty I: Profit Percentage , if Some articles were bought at 6 articles for Rs. 5 and
sold at 5 articles for Rs. 6

ykHizfr'kr; fn qu)Lr($ - eddhnj Is [ kihnkbXkS$ : - edadh
nj Is cspR;hA

Quanity II: Proﬁt Percentage, if 100 toys are bought at the rate of Rs. 350 and sold at
the rate of Rs. 48 per dozen.

@ | YkHizfrkr; fn 100f kykSIK@S0: - egakjhnkk vkS)8: - izfrntZu
\ 9 | degIkC|S CSpk KA Quantity I > Quantity 11

(2) Quantity I 2 Quantity 11

(3) Quantity I < Quantity 11

(4) Quantity I < Quantity II

(5) Quantity I = Quantity II OR
Relation cannot be established.
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Quantlty I: On selling 17 balls at Rs. 720, there is a loss equal to the cost price of 5
balls. The cost price of a ball is:

720 - esb/ xsanspals 5 xsadieg ds cjkcjgkfligksrkxsath O;

ewYKkrdhft,
Quanity I1: A man buys a cycle for Rs. 1400 and sells it at a loss of 15%. The selling

price is:

,d O;iDrd lkbfdy dk4400 - edkihngSkanlsL5izfrkrgkfu
@16) cspr $k$n|dkfod ewYKkrdhft,A (1) Quantity T > Quantity II

(2) Quantity I = Quantity II

%) Quantity I < Quantity II

(4) Quantity I < Quantity II
(5) Quantity I = Quantity II OR
Relation cannot be established.




